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1. How often does John go to the gym?

A. Three times a week

B. Twice a week

C. Once a week

D. Four times a week

Answer:B

f#MT: The dialogue might go like this:Speaker

usually go to the gymJohn?’Speaker B replies,“l go

Thus,the correct answer is B.

2. What does the man think of the movie?

A, It's boring.

B. It's wonderful.

A
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asks,“How
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C. It's terrible.
D. It's average.
Answer:B

fEMT: The dialogue might go like this:Speaker A  asks,“What do you think



of the  movie,JJohn?”Speaker B  replies,“ = think the movie is  wonderful.”

Therefore,the  correct answer is  B.

3. BIC

Listen to the following short conversation and choose the best answer to each

question.

Conversation:

Woman:Hello,Peter.Can you hear me on the phone?

Man:Yes,I canlt's great to talk to youHow have you been?

Woman:I've  been well,thanks.How  about you?

Man:I'm good.I've just been busy with my work.By the way,I saw that you

moved to a new apartmentHow do you like it so far?

Woman:Oh,it's really mnice.The view is fantasticI can see the park and the

lake from my window.It's very peaceful.

Man:That sounds great When are you planning to move all your things?

Woman:I think it might be about a month from now.

Man:Oh,that's exciting.I have a free weekend next month.Maybe we can get

together for some lunch or something.

Woman:That would be lovely.Let's plan to do it



Man:Great!See you then.

Question 3:What can the woman see from her window?

A)The school and the beach.

B)The park and the lake.



C)The mountain and the forest.
4. B/B
Question 4:What is the man's plan for the weekend next month?
A)To move all his things to a new place.
B)To have lunch with the woman.
C)To find a new apartment.
5. How many people are in the man's family?
A3
B.4
C5

Answer:C.5

Explanation: The conversation indicates that there are five members in the

man's family,as he mentions his parents,himself,and his two siblings.The

dialogue he had with a friend included the following exchange:

Friend:How many people are there in your family?

Man:There are five of us:my parents,my brother,my sister,and me.
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1. Where did the woman's journey begin?



A.At the airport.

B.At the railway station.

C.At the bus stop.



D.At the harbor.

Answer:B.At the railway station.
Explanation:The woman mentioned she first arrived at the railway station,so

the correct answer is B.

2+ What time is it now for the woman?

A.8:00.

B.8:15.

C.8:30.

D.8:45.

Answer:B.8:15.
Explanation:According to the woman's statement,they just missed the bus,and
it was 15 minutes before the next one.Assuming the bus should have departed

at 8:30,it implies that it is now 8:15.Therefore,the correct answer is B.

3. Conversation

Directions:In this section,you will hear a conversation.At the end of the

conversation,you will hear four questions.Both the conversation and the

questions will be spoken only once.After you hear a question,you must choose

the best answer from the four choices marked A),B),C),and D).Then mark the

corresponding letter on the Answer Sheet with a single line through the center.

3.What are the two speakers mainly discussing?

A)Their plans for the weekend.



B)Their favorite movies.



C)Their friends.

D)Their weekend experiences.

Answer:A

Parsing:The conversation revolves around what the

the weekend,which makes option A the most

4. Question and Answer

4.What does the man suggest they do on

A)See a movie.

B)Watch a game.

C)Go shopping.

D)Go for a walk.

Answer:A

two speakers plan

appropriate  answer.

Saturday

Parsing:The man  suggests going to the movies,which

the conversation. Therefore,option A is the

5\

A:2:45

correct

afternoon?

is  clearly

answer.

to

do during

indicated

in



S.Listen to the following conversations and choose the best answer to each

question.(2 points each)

5. Conversation:

W:Do you know what time the train leaves?

M:It departs at 2:30,but it was delayed by 15 minutes last time.

Q:When will the train leave?

A:2:45



f##7: The man mentions that the train was delayed by 15 minutes last time,

and it was supposed to depart at 2:30.S0,2:30 plus 15 minutes equals 2:45.

Therefore,the train will leave at 2:45.

6.

6.Listen to the following conversations and choose the best answer to each
question.(2 points each)

6 . Conversation:

M:Hey,l just heard about the school play.l missed the first practice,

would you mind giving me a summary?

W:Actually,the director said the first act includes a romantic scene between

the main characters.

Q:What will be included in the first act of the school play?

A:A romantic scene between the main characters

M. The woman mentions that the director said the first act includes a

romantic scene between the main characters.Therefore,the first act of the

school play will include a romantic scene between the main characters.

7+ A

Wr 7344%}: Man:Can 1 get a double espresso,please?
Question:What is the man most likely to be doing?
A)ln a coffee shop
B)In a hospital

C)At home



figt#lT: This question is testing the ability to infer from the context.The

man orders a double espresso,which is a type of coffee.Therefore,the most

likely situation is that the man is in a coffee shop.

& C

Wy J3%1kl: Woman:Shouldn't you be asleep?

Man:I wake up early,so I can get some extra work done.

Question:Why does the man stay up late?

A)He stays up late because he’s bored.

B)He stays up late because he has insomnia.

C)He stays up late to do extra work.

fif4T: The man says that he wakes up early, which inplies that he goes to

bed late to maximize his working hours.Therefore,the correct answer is that

he stays up to do extra work.

9. What is the weather forecast for tomorrow?

A.Sunny.B.Rainy.C.Cloudy.

Answer:B

Explanation:The passage mentions that there will be heavy rain tomorrow,so

the correct answer is B.

10. Where does this conversation take place?

A.At a hotel. B.At a train station.C.At a travel agency.

Answer:C



Explanation:The conversation mentions booking a hotel room and checking the



weather forecast,which suggests a travel context,so the correct answer is C.

11. What does the man suggest the woman do about the cold?

A)Put on more clothes.

B)Stay in bed.

C)Take some medicine.

Answer:A

Interpretation: The man suggests that the woman should put on more clothes to
stay warm and avoid getting colder.This option is more about alleviating the

current condition by adjusting her clothing,rather than staying in bed,taking

medicine,or any other direct medical action.

12, Why did the speakers buy the sandwich?

A)They had no time for a longer meal.

B)It was on special offer.

C)They were in a hurry.
Answer:C
Interpretation: The speakers bought the sandwich because they were in a hurry,

which implies they were quick to grab a quick meal without the need for a longer,
more formal dining experience.This is a common reason people opt for sandwiches

when they need a fast meal.

13 . Which book does the woman recommend to the man?

A.The English Premier League.

B.A Walk in the Woods.



C.The Environment.

D.A Brief History of Time.

Answer:B

14.Whatdoes the man decide to do at the end of the conversation?

A.Read a book.

B.Visit a bookstore.

C.Change  his  major.

D.Have 1lunch with the woman.

Answer:A

Translation of Explanations:

13. The woman recommends “A Walk in the Woods’to the man.She thinks

this book is perfect for him,as it offers an interesting and engaging story

that would keep his interest throughout the winter months.The man,on the other

hand,was considering other options like“The English ~ Premier League”or“The

Environment,”but was more likely to choose“A Walk in the Woods’due to its

appealing narrative.

A)9:00 AM



14, After discussing the book  recommendationithe man  decides to  read“A

Walk in the Woods.”The woman suggests that he could visit a bookstore to find

the  book.However,the  man  chooses to  directly read the  book,indicating his

mmediate  desire to  start reading it

15+ According to the woman,what is the earliest time they can arrive at

the station?

A)9:00 AM



B)9:20 AM

©)9:30 AM

D)9:45 AM

Answer:B

Explanation:The correct answer is B)9:20 AM.The woman mentions that they
have a 20-minute drive and suggests that they should arrive at the station by

9:20 AM to avoid the rush.
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Passage
The School's Garden

It was a bright,sunny afternoon in early spring.The school garden was starting to come to
life after a long winter.Mrs.Johnson,the science teacher,was taking her two classes for a
field trip.She had planned the visit to teach the students about nature and the importance
of maintaining an ecosystem.The garden was a place where they could observe plants and

animals and learn about their interactions.The children were full of energy and curiosity,

eager to explore.

Mrs.Johnson pointed to a small patch of weeds that had invaded the area.

“These are called invasive species,”’she explained,“and they can disrupt



the natural balance of a garden.”She then moved on to show them different
types of flowers and explain their functions in the garden.The students
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